H{;
ith

[ =
% i
O (I 3 L #5
T T TH
= # 999,920 1,013,911 A13,991
= # 999,920 1,013,911 A13,991
B3 = # 845,289 856,158 A10,869
22 I/ i
9 A X 53 & #
T TH
i) i 845,289 1 # i 544,731
4 Jt e # 114,993
7 & # 400
8 it # 8,292
9 S ¢ 1,200
10 H # 12,710
11 % % # 5,798
12 & it s 13,891
13 ff A OBF & OV & M5B 12,982
17 fi A BN & 1,731
18 BB o 22 A 4 128,561
B A
TH
B OWM, BAAERLOBRSEESICET IRE A L
EERMNE L UERFE 668, 016
B0 50 N 385, 864 ©)
HIRF4 158, 867 ©)
e E 114, 993 @
]I E 8, 292
AR 8, 000
SR R 292
ZRE 1,200 ©)
BREEE 50, 493
S E 20, 237
B 400 ©)
IE%i g 20
[ = [ 3 i N 1, 546
B 396
[BSIREESS 500
i, HERS 650
KD LI ZEHn 2 912
THAE L o KL OMERERE 1,576




maE

B 3

T
[ R A5 97 )
HERIRTRR Y AT MRESFEZRFOR 1, 600 ®
PAZRIRE S Z A R 205 ®
HERIBTRRY AT DGR 1,189 ®
HEB L OZ B S E SRS AR 7,617 ®
EAEMER 363 ®
Far - S i N 1,731 @
R GRS mER e 270 ®
2ETHISBERSEFA ? & 2,711

(2) KERTE XV RITE (44m1) 14, 142
K72 L0 FHlnl 2 1171195, 000 5, 685
B ITIA R 1[E]170, 000 5,610 @)
[IRRES/ S 91 @
T R EZ R 511 ®
BiAn. FEEZFOR 2, 245 ®
() HMFBIOFEOXRHET L BITE (£F4[A1) 982 @

RERHESTE L0 IRITHE 1[E]503 680
PO 0RITE 1E40AK 302

(4) SEeERUER 15, 132
MEESEIE - SSHWONEITIIE- ¢ 2,971
DT — X DGRZE R 6, 969 ®
BDESIRR L AT LT — ZERZEEE 1, 141 @
HEMGEZRTE v AT BT — # B SZ R 275 @
BEHRER > AT LT — X AERRZEFER} 168 ®
DEHERIR R AT Ll HTE 1,320 ®
RN MWBRBUE R v R T Ml TR 1,826 ®
BRHR SR > AT LR 462 ®
4 BEEFHE 125, 580




K I H KOE B (K 3 e L
T T TH
2 F B R B 154,631 157,753 A3,122
[ N i
X 9 & A X 53 & #H
T TH
— fix W I 154,631 2 # s 67,020
I B F o4 % 58,815
4 4t s # 26,473
8 Jift # 1,745
10 H # 550
18 B HH A B M 22 A 4 28
B B
TH
RS FEROBEANEL L OFERFHICET R B %25 L
1 BEAHE 152, 308
R 16N 67, 020 ®
HEFY 1,608 ®
Hit gk 24 13,975 ®
HIRF4 17, 564 ®
i+ 15, 542 ®
(eiil o 1,218 ®
THE Y 2,079 ®
FEFY 424 ®
IRE ] S B 7S 2 6, 405 ®
ey 26, 473 @
2 EHBRERKE 2,323
Jik # 1,745
THEEM B B L OMERE R} 550
HHRAHEE 28






